Use this ready reckoner for windy approaches

Example: 40 knot wind at 30 degree angle

l. Determine offset in degrees from direction wind is blowing from and the
direction the runway is lined upon

2. Go to 40 (C) in headwind component & follow the curved line till the angle in
degrees (B)

3. Work down the vertical line. The figure at the bottom is your cross wind
component

4. Work across from B to obtain your actual headwind component

: ! ! EXAMPLE: 40 knot wind at 30° angle
0° : _ H _ A 30° angle between wind and runway.
it 140 20° A B 40 knots total wind velocity.
JrH et =Grte C 35 knot headwind component.
ﬁ# FHE %0 : e D 20 knot crosswind component.
h Wyt 40° eI
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